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Objective

Can stress wave analysis of trees help
us predict the warp potential of
lumber?
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Measurements




Kiln Drying Schedule
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Warp Measurement




Results

Comparison of stress wave speeds of trees vs. lumber and
trees vs. logs (ft/s)
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Results

»* Separate tree and log data into
different classes based on acoustic
velocities

» Compare acoustic velocities to
aVerage warp measurements for that
particular class



Results

Tree acoustic group (ft/s)
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Results

Comparison of warp measurements to tree measurements
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Results

Log acoustic group (ft/s)

Number of specimens

I group
< 5500 8
5)5)0/0)516)510)0) 24
6)51010)=7/510)0, 26
> 7510)0) 9




Results

Comparison of warp measurements to log measurements

Crook
0.90 © Bow
0.80 A Twist

Linear (Crook)
—— Linear (Bow)



Results
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Results

Trees Logs
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Twist not evaluated because very few boards exceeded the #2 grade warp limits



Conclusions

* Good correlation between tree
measurements and log measurements

* Amount of warp in the form: of bow and
twist decreased asi velocity: of trees and
logs increased (Crook had ne: strong
relationships wWithl stress wave speed)

* Analysis of standing timver and legs) can
PESSIBIY DE USEd £ predict wWarp: potential
O lUMIBEN



Questions?




